1000/c 2do)/d(m_1 + m_2) [1/GeV]

Ratio to CMS

AN
H
o L <

e
o o o
w N A

e
S 9
ol BN

107° £ .
¢ —a— Pythia 8.301 default

0.5

7000 Qev PP

ﬂ IIIIIIII| IIIIIIﬂ] IIIIIIII| IIIIIIﬂ] IIIIIIII| IIIIIIﬂ] IIIIIIII| ]

. m cMms
{ --3-- Herwig 7.2.0 default

. -4 Sherpa 2.2.4 default

Jet Mass (anti-kT(o.7), 2500<pT<6OO, ly|<2.5)

Jets
T I

IIIIIIII| IIIIIIllI |IIIIIII| IIIIIIllI |IIIIIII| IIIIIIllI |IIIIIII| L

1

1 II|IIII|III|IIIIII|]] |||||||||

L 11 I|IIII|IIIIII|I|Ill| |IIIIIII| IIIIIIllI IIIIIIII| L

[

1
200

Rivet 3.1.0, > 5.8M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5

(m_1+m_2)/2[GeV]



	Contents
	Page 1


